#### PERMIT

CITY OF NAPOLEON 255 W. RIVERVIEW AVE NAPOLEON, OHIO 43545

DIVISION OF BUILDING & ZONING PH (419) 592-4010 FAX (419) 599-8393

PERMIT NO: 1569 DATE ISSUED: 04-11-03 ISSUED BY: BND

JOB LOCATION: 645 AMERICAN ROAD

EST. COST:

LOT #:

SUBDIVISION NAME:

OWNER: TRI VET L L C

ADDRESS: 645 AMERICAN ROAD

CSZ: NAPOLEON, OH 43545

PHONE: 419-592-6876

AGENT: MEL LANZER CO ADDRESS: 2266 SCOTT ST

CSZ: NAPOLEON, OH 43545

PHONE: 419-592-2801

USE TYPE - RESIDENTIAL:

OTHER:

ZONING INFORMATION

PAID DATE

DIST: LOT DIM: AREA: FYRD: SYRD: RYRD: MAX HT: # PKG SPACES: # LOADING SP: MAX LOT COV:

BOARD OF ZONING APPEALS:

WORK TYPE - NEW: REPLMNT: ADD'N: ALTER: REMODEL:

WORK INFORMATION

SIZE - LGTH: WIDTH: STORIES: LIVING AREA SF: GARAGE AREA SF: HEIGHT: BLDG VOL DEMO PERMIT:

WORK DESCRIPTION

WATER TAP & SAN INSP

FEE DESCRIPTION

WATER TAP PERMIT

SEWER PERMIT

FEE AMOUNT DUE

2759,48

110.00

TOTAL FEES DUE

APPLICANT SIGNATURE

## CITY OF NAPOLEON WATER TAPPING PERMIT FORM

PERMIT #: 1569	ISSUED: 4-11-2003
JOB LOCATION:	7-11-2003
SUBDIVISION NAME:	LOT #:
OWNER: Tri Vet LLC	
ADDRESS: 645 American	
CONTRACTOR:	PHONE:
TAP SIZE: 1" 1.5"	2"OTHER
	YOKE SIZE:
	PH:
DATE OF TAP.	TAD #. NEU TAD #.
SIZE AND WIND OF WATER.	TAP #: NEW TAP #:
LOCATION OF WALK.	12" 6-900
DIGHT TROW THE TAIN:	DEPTH OF MAIN:  5/2  DEST TO CURB STOP FROM CORP:
DIST FROM HYDRANT VALVE:	DEST TO CURB STOP FROM CORP:
645	
· · · · · · · · · · · · · · · · · · ·	12°
	innericem Dr.
* * * * * * * * * * * * * * * * * * *	* * * * * * * * * * * * * * * * * * * *
* * * * * * * * * * * * * * * * * * *	1
DATE APPROVED:	BY: My C marky
210-	fifter - marriage

#### CITY OF NAPOLEON

### WATER METER YOKE RELEASE FORM

THIS DOCUMENT ENTITLES THE HOLDER TO "ONE" WATER METER YOKE ASSEMBLY (Please pickup at City Operations Department 1775 Industrial Drive).

PERMIT #: 1569 ISSUED: 04-11-2003

JOB LOCATION: 645 AMERICAN ROAD

OWNER: NAPOLEON VETERINARY CLINIC PHONE: 419-592-6876
ADDRESS: 645 AMERICAN ROAD NAPOLEON, OH 43545
CONTRACTOR: MEL LANZER CO
ADDRESS: 2266 SCOTT ST NAPOLEON, OH 43545
PHONE: 419-592-2801
WATER TAP SIZE 1" 1.5" 2" OTHER
WATER METER YOKE SIZE 5/8" 3/4" 1" X OTHER
NEW STRUCTURE LAWN METER
WATER SERVICE LINE TO BE TYPE "K" COPPER OR "CTS" POLYETHELENE TUBING OF 1" MINIMUM SIZE.
BACKFLOW DEVICE REQUIRED YES X NO
TYPE OF BACKFLOW DEVICE REQUIRED RPZ Teduced
picssure backflow assembly
WATER METER YOKE INSTALLATION IS SUBJECT TO THE FOLLOWING CONDITIONS
1.) MUST BE LOCATED IN AN ACCESSIBLE AREA.
2.) MUST BE IN AN AREA WHICH IS NOT SUBJECT TO FREEZING TEMPERATURES.
3.) MUST BE AT LEAST 18" ABOVE FLOOR LEVEL (NO CRAWL SPACE INSTALLATIONS).
4.) MUST COMPLY WITH MINIMUM MOUNTING REQUIREMENTS (DRAWING AVAILABLE)
ISSUED BY RECEIVED BY
1-Copy to: Building Dept, Water Dept, and Utilities Dept

# 645 American Rd

# NAPOLEON VETERINARY CLINIC PRICE QUOTE 2" TAP W/2" WATER METER

### **EQUIPMENT & LABOR**

Backhoe w/operator	\$70/hr x 4 hours	\$280.00
Large dump truck w/driver	\$60/hr x 4 hours	\$240.00
Service truck w/driver	\$40/hr x 4 hours	\$160.00
General labor	\$25/hr x 4 hours	\$100.00
Compressor & piercing tool	\$105/hr x 2 hours	\$210.00
Labor for meter install	\$25/hr x 2 men x 1 hour	\$50.00
	total equipment & labor	\$1,040.00

### **MATERIALS**

12" x 2" s.s. tap saddle	1 @ \$80/ea	\$80.00
2" corp, comp	1 @ \$75/ea	\$75.00
2" ball curb stop, comp	1 @ \$102/ea	\$102.00
2" s.s. inserts	3 @ \$4/ea	\$12.00
4 1/2' bury curb box	1 @ \$22/ea	\$22.00
23" s.s. rod	1 @ \$10/ea	\$10.00
Enlarged base	1 @ \$11/ea	\$11.00
2" C.T.S. P.E. tubing	100' x \$0.85/foot	\$85.00
Tracing wire	100' x \$0.06/foot	\$6.00
304 stone	8 tons @ \$7.55/ton	\$60.40
2" coppersetter	1 @ \$375/ea	\$375.00
2" T-10 water meter	1 @ \$455.18/ea	\$455.18
M.I.U. wall mount "ROM"	1 @ \$80/ea	\$80.00
Meter wire		\$2.00
	sub total materials	\$1,375.58
	25% upcharge	\$343.90
	total materials	\$1,719.48

 Total Equipment & Labor
 \$1,040.00

 Total Materials
 \$1,719.48

 GRAND TOTAL
 \$2,759.48